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A) Fill in the blanks. 

1) AIR travel started nearly a HUNDRED years ago. 

2) New HOUSES may come up in place of old BUNGALOWS. 

3) We can DIVIDE a family into GENERATIONS. 

4) Water transport is the CHEAPEST and OLDEST mode of transport. 

5) Animals were used as a MODE of TRANSPORT. 

 

 

B)  Give one word. 

1) Uncle and aunt’s children. COUSINS 

2) People born and living at about the same time. GENERATION 

3) To move from one place to another. TRANSFER 

4) When old teachers leave school. RETIRE 

5) A type of ship that can travel underwater. SUBMARINE 

 

 

C) Match the following. 

1) Change in a family   e) baby  

2) Transport goods or people  d) vehicles  

3) Helicopters    a) carry few people  

4) Online     f) buy groceries  

5) Smile and greet   g) everyone  

6) Mother and father   i) parents  

7) Airplanes    j) send letters and goods  

8) Never disturb    h) your neighbours 

9) Metro trains    b) runs on special tracks  

10) Stays at home    c) home maker  

 

 

D) Write True or False. 

1) Always respect your neighbours. TRUE   

2) A nuclear family is a big family. FALSE    

3) Modes of transport have changed with time. TRUE   

4) Families are of different kinds. TRUE    

5) Air travel started nearly two hundred years ago. FALSE    

 

 

 

 

 



 

E) Answer the following questions. 

1) What is a joint family? 

Ans: A joint family is a family where grandparents, parents, aunts, uncles and children 

live together. 

 

2) Explain how a family grows and changes with time? 

Ans: A family grows and changes when there is a marriage in the family or when a 

baby is born into a family. 

 

3) What are the four factors that help us to choose a particular vehicle for travel? 

Ans: The four factors which help us to choose a particular vehicle for travel are: 

a) location 

b) time available 

c) money we can spend 

d) distance to be covered 

 

4) How are cargo ships different from passenger ships? 

Ans: Cargo ships are different from passenger ships as cargo ships carry goods and 

passenger ships carry passengers. 

 

5) Write 3 ways in which we can adapt to changes in a school. 

Ans: The three ways in which we can adapt to changes in a school are: 

a) Smile and greet everyone. 

b) Be friendly, helpful and polite. Make new friends. 

c) Share your lunch with those who sit next to you. 

 

 


